BUDHA DAL PUBLIC SCHOOL PATIALA
FINAL EXAMINATION (19 March 2025)
SOCIAL SCIENCE
Class - IX [Set - A)
. Tieme allowed : ) hosass Marimum Marks « 80
General Instructions:
L. The question paper compeises Sis Sections - A B, C D, Fand 1 Thete are 37 questions in the
Question paper. All questions are compalsory.
2. Section A - From questions 1 1o 20 are MCQs of 1 mark cach.
1. Section B - Question so. 21 1o 38 are very short answer type questions carying 2 marks each.
4. Section C containe Q05 1o Q2% are shont answer type questions canrying 8 marks each,
%, Section 1« Question so. 50 1o 11 ate long answer type questions carrying & marks each,

6. Section-¥ - Questions no from M 1o % are case based questions with three sub questions and are |

of 4 marks cach
7, Section ¥ - Question mo. 17 is map based, carrying § marke with two pants, ¥7a from History (2

marke) and 17 froem Ceography (3 mankel
8. There s no overall choke in the guestion paper, However, an internal hotce has been provided

in few questions. Only ome of the choioes in sech questions have 1o be attemipled,

PCTON - A
AU TIPS OWOncE QUESTIONS (1520=20)
§. What does this politics vae il Sapne silly 1 eppirespereit ¥
al A pew Begirmitg
B} Serevgth ard reulienes
¢} Freedam or hbey alias

o) Wealth and grosgerity

1. The Standard Meridian of Inda @ 7' W71 passes through which of the foliowing places?

a) Namgakymae oy Fasileady B) Wakong i Arunachal Pradeth

¢) Kuteh i Gufarat &) Miv : apwt s Uttar Pradesh

3. What does tertiary sector provide ?

al Services  B) Goods <) Both goods and services @) None of the these
toose the correct option:

&, Read the folowing statements carefully and ¢
Statement {1} - Our country has practically 2l rraior
deserts. plateaus and islamds.
Sratement (1) | The land of india displays great physical variation.
a) Statement {1} & correct and (%) & incorredt
b} Statement {1} i incorrect and (W) & cormedt
¢) Both staterments are corTect.
d} 8ot staterments are corTect.

chysica! features of the earth Le., mountains, plains,

5. When did General Perve: Musharraf isad 2 miltary coup in Pakistan?
ol October 1998 B October 1985 ) October 1990 d) October 1989
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6. These are two statements marked as Assertion (A) and Reason (R), Read the statement and P ¢ «
choose the correct option: \5\?‘ ’7\“
Assertion (A): Democracy provides a method to deal with differences and conflicts. & 4
Reason (R) : Inademocracy, each adult citizen must have one vote and each vote must have one ya1, w7
a) Both A and R are true and R is the correct explanation of A S
b) Both Aand R are true‘and R is not the correct explanation of A
c) Aistrue but R is False
d) A is false but R is true K

7. Match the following leaders with their roles -

a) Moti Lal Nehru i) President of South Africa

b) B.R. Ambedkar i) President of the Constituent Assembly

c) Rajendra Prasad . ili) Chairman of the Drafting Committee

d) Nelson Mandela iv) Prepared the Constitution for India in 1928

a) a (i), b (ii), c (iii), d (iv) b) a (i), b (iii), c (iv), d (i) <) a(iv), b (iii), c (i), d (i) d)a (iv), b i), c (i), d (i

8. By —elections are held in one constituency to
a) Fill the seats in Vidhan Sabha
b) to fill the vacancy caused by death or resignation of a member
c) to select a capable candidate
d) to elect two leaders in the constituency

9. The accepted average calories requirement per person in urban areas in India is
a) 2200 calories b) 2000 calories c) 2300 calories  d) 2100 calories

10. Arrange the following in Chronological order
i) The National Assembly in France passed a decree abolishing the feudal system of obligations and taxes.
ii) A constitution is framed to limit the power of the king in France.
iii) Robespierre followed a policy of severe control and punishment.
iv) The National Assembly voted in France to declare war against Prussia and Austria
a) iii, iv, i and i b) ii, i, iv, and iii c) i, ii, iv and iii d) iv, iii, iiand i
11. Highly vulnerable groups to poverty are:
a) Scheduled castes b) Scheduled tribes  c) Both (a) and (b) d) None of these

12. Chief Election Commissioner is appointed by

~ a) Lok Sabha Speaker b) The President of India

c) The Chief Justice of India d) The Vice president of India

ssertion (A) and Reason (R), Read the statement and

13. These are two statement marked as A
choose the correct option:
Assertion (A): The Russian Social
Reason (R) : All political parties
a) Both AandRaretrueandR is th

Democratic Worker’s Party had to operate as an illegal organisation.
had to operate as an illegal organization.
e correct explanation of A

AR
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d) A & Fabie s K s e

19, What did ‘Gestape’ sean o Germany
#) Secret Sate Folice Bi Priteiten sgual  f) beowrity servke @) Revolaionary Ground

18, dentify the corrent satesment
a}%rmawm;mwms.mdﬁW,
B} Most of the Hirmakeyor (et dre e
6} Whilior lokte in located » Uhier Pradiess
d) All of the these

L7, 0f there is 2 differerce Betwses Lol Salbite ahd By Lalbbe over & Bl what way the final dedision &
taken !

al Under the gridarce of the Svame Wi en

B} Under the guidanae of lugremse (o

€) I a4 joint sessor of Boe® S Soae:

d) Unider the guidarce of e wgueater of Lo el

LB Antyodhaye card e 3 Bl of 2 38iom ¢ aird st Sor
a) Below poverty ine proghe B Buer ape docsme posgic
2 Abuve poverty Hie grogite 4 Poor et oF e grree peagis

19 Name thes intarnational Staeagr Sighes T opnmmsiios St @ olietad pdormaton on the condition of prisoners

rortured in Guantaname Bay

a) UR international Bl stan s Hghe: oot ¢] emmonty tedtevrationg ) one of these

20 Who i the head of B thate o indla’

2) The Privve Minister B The Precidiere  ¢f Calunet Wirister &) Ohief Justive of Indis

, _
VERY $MORT ANTWER QUESTIONS (2e4-4)

21, Row are elections i tedia Silfigrent from Mevico?

23, List sy twis Factors which contritwted o the fimancial orisis faced by France during the reign of Lowis xy;_

33, Discuss the significant diferences between the Himatavan Bivers and Peninsular fivers,

ummmnmnmmm(fm'm“ ment by

03 Of a0 DR CIrCumstances. -
giving evamples |
&mm‘mmudmmmwwmm“m,
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How js density of LONG ANSWER BASED QUESTION sible for uneven distribution of A
Population ; of population calculated? What factors are respon b &
0N in states of India? i
ia? Explain by giving examples.
o OR
ISCu . .
. ss longitudinal divisions of Himalayas in detail.
. hat T
was the contribution of Lenin in the Russian Revolution?
OR
How did the Nazis proceed to realize their murderous racial ideology by eliminating the undesirables?
Explain.
3 . o . .
2. “The Right to Freedom is actually a cluster of several rights.” Discuss.
OR
me Minister of

Who appoints the Prime Minister of India? Discuss major powers and functions of the Pri
India.

33. Define Unemployment. Name the types of unemployment prevailing in India. Discuss its effects in India.

OR
roblems of functioning of ration shops.
SECTION-E
CASE BASED QUESTIONS (4x3=12)

nd answer the questions below:
from about 23 million in 171

Discuss about the various p

5 to 28 million in 1789. This led to a rapid

The population of France rose
increase in the demand for foodgrains. production of grains could not keep pace with the demand. So the price
f bread which was the staple diet of the majority rose rapidly. Most workers were employed as labourers in
workshops whose owner fixed their wages. But wages did not keep pace with the rice in prices. So the gap
between the poor and the rich widened. Things became worse whenever drought or hail reduced the harvest.
This led to a subsistence crisis, something that occurred frequently in France during the Old Regime.
(i) On the basis of above mentioned passage, define the term subsistence crisis. (1)

(ii) What was the staple diet of the majority of the French people? (1)
(i) What led to the rapid increase in the demand of food grains? What was its consequence of this? (2)

34. Read the source given below a

er the questions below:
nt movement of the Sun towards the South, the monsoon trough or

plains becomes weaker. This is gradually replaced by a high-
ds weaken and start withdrawing gradually. By the beginning of
n Plains.

d of transition from hot rainy season to dry winter conditions.
ies and rise in temperature. While day temperatures are high,
the conditions of high temperature and humidity,

source given below and answ
November, with the appare
h over the Northern
th-West monsoon win
thdraws from Norther
ber form a perio

ked by clear sk
and is still moist. Owing to

35. Read the
During October-
the low-pressure troug
pressure system. The Sou
October, the monsoon wi
The months of October-Novem
The retreat of the monsoon is mar
nights and cool and pleasant. The |
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© weather becomes .
es rather oppressive during the day. This is commonly known as ‘October heat’. In the

second half of
October, the mercury begins to fall rapidly in Northern India.

(i) What is meant by ‘October heat’? 2
i) Why .
(if) Why does the monsoon trough over the Northern plains become weaker during October-November?(1)

(2)

(iii) Give any 2 features of Retreating monsoons.

3§. Read the source given below and answer the questions below:

Sivaraman lives in a small village near Karur town in Tamil Nadu.
powerloom fabrics. There are a 100 families in the village. Sivaramane @ cobbler by caste now works as an
agricultural labourer for 160 per day. But that's only for five to six months in a year. At other times, he doe's
odd jobs in the town. His wife Sasikala too works with him. But she can rarely find work these days, and even if
she does she's paid Rs 100 per day for the same work that Sivaraman does. There are eight members in the
family. Sivaraman's 65 year old widowed mother is ill and needs to be helped with her daily chores. He has a
25-year-old unmarried sister and four children aged between 1 year to 16 years. Three of them are girls, the
youngest is a son. None of the girls go to school. Buying books and other things for school-going girls is a luxury
he cannot afford. Also, he has to get them married at some point of time so he doesn't want to spend on their
education now. His mother has lost interest in life and is just waiting to die someday. His sister and elder
daughter take care of the household. Sivaraman plans to send his son to school when he comes of age. His
unmarried sister does not get along with his wife. Sasikala finds her a burden but Sivaraman can't find a
suitable groom due to lack of money. Although the family has difficulty in arranging two meals a day.

Sivaraman manages to buy milk once in a while, but only for his son.

Karur is famous for its handloom and

(i) Why is Sivaraman unable to enroll his children in school? (1)

(ii) Why did Sivaraman need to do odd jobs in the town apart from agriculture? (1)

(i) What are the effects of poverty, on the Sivaramans family? (2)
SECTION-F

MAP SKILL BASED QUESTIONS (2+3=5)
37. A. Two places have been marked as (i) and (ii) on the given political outline map of world. Identify them

with the help of the following information and write their correct names on the lines drawn near them

- Two Allied powers in Second World War.

37.B. On the political outline map of India, locate and label the following: (any th
(i) State having lowest density of population e
(ii) Konkan Coast .
(iii) Corbett National Park

(iv) Lake Sambar
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